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109# 35,446 1 24,065 11,380 72.7
110# 30,808 - 19,877 10,931 72.8
111# 29,000 - 20,704 8,296 73.8
1272 3,114 — 2,146 968 74.7
112& 31,120 — 23,681 7,439 73.3
B E Y 7.3 — 14.4 -10.3 {-0.5}
17 3,400 — 2,120 1,280 73.8
27 1,831 — 1,768 63 78.3
31 2,409 — 1,983 426 73.0
47 3,245 — 1,860 1,385 71.5
51 2,192 — 1,956 236 70.1
6" 2,277 — 1,846 431 70.5
(K 2,795 - 1,908 887 68.8
8 ® 2,313 - 2,026 287 72.9
91 2,478 — 2,012 466 75.9
10 @ 2,412 - 2,070 342 77.6
11 2,625 - 2,090 535 77.0
12 3,143 - 2,042 1,101 76.6
&A% 19.7 — -2.3 105.8 {-0.4}
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